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If 4x2 - mx + 11 = mx2 + 7x – (m + 11) has only one (repeated) solution, then the 

positive integral solution of m (m < 10) is –

1. 2
2. -3
3. 3
4. 4
5. -4



Given below are three quantities named 1, 2 and 3. Based on the given information, 
you have to determine the relation among the three quantities. You should use the 
given data and knowledge of Mathematics to choose between the possible answer. The 
options represent the relations among three quantities.

A. <

B. >

C. ≤
D. ≥
E. =

Quanity 1: Find the missing term.

?, 12, 27, 58, 121, 248.

Quanity 2: (25)6.5 × (5)3.5 ÷ (125)4.5 = 5x, find the value of x.

Quantity 3: Find the value of ‘k’

K2 – 4k + 4 = 0

1. A B
2. B B
3. E A
4. A A
5. NOT



Given below are two quantities named A and B. Based on the given 

information, you have to determine the relation between the two quantities. 

You should use the given data and your knowledge of Mathematics to 

choose among the possible answers.

Find the value of x.

Quantity A: x 4 + a × x 4 – a = x 2 + a × x 2 – a

Quantity B: 4x2 – 4x + 1 = 0

1. Quantity A > Quantity B
2. Quantity A < Quantity B
3. Quantity A ≤ Quantity B
4. Quantity A ≥ Quantity B
5. Quantity A = Quantity B 

or no relation can be 
established



The α and β are the roots of the equation Ax2 – 7x + 6 = 0 and the 1/α and 1/β
are the roots of the equation  6x2 – 7x + 2 = 0, then, what is the value of A?

1. 1
2. 2
3. 3
4. -2
5. NOT



Directions: Answer the questions based on the information given below.

In the given table there are two columns I and II. Column I contains three equations 

and column II contains the roots of the equation given in column I, not necessarily in 

the same order. Study the given table carefully and answer the questions accordingly.

1. 1- c, 2- a, 3- b
2. 1- a, 2- b, 3- c
3. 1- b, 2- c, 3- a
4. 1- a, 2- c, 3- b
5. 1- c, 2- b, 3- a

Column I Column II

1. x2 – 5x – 36 = 0 a. 13, -15

2. y2 + 2y – 195 = 0 b. -9, 18

3. z2 – 9z – 162 = 0 c. 9, -4



The average marks of 29 students are 70. The average marks of the first 15 students 

are 75 and the average marks of the last 15 students are 66. Which of the following 

is/are true if the marks of the 15th person is m?

A. m is not a multiple of 17

B. m/17 is a composite number

C. m = √(m + 15) × 8

D. 2m = 250 – m 

1. Only B
2. A and D
3. B, C, and D
4. NOT
5. A, B, C and 

D



15 men can do a work in 16 days. A man is 25% more efficiency than the woman. 

One woman started doing the work on 1st day. One more woman joined the 

work on 2nd day. One more woman joined the work on 3rd day. The process 

continues. Find the total number of woman on the last day of work ?

1. 20
2. 22
3. 24
4. 26
5. 28



Direction: In a factory, the attendance of all
the workers was 100% but all the workers
were not punctual to the factory nor did all
the workers stayed till the end. One day, all
the workers who arrived early at the office,
20% of them left early but 40% of them left
late and rest of them left on time. Of the
workers who arrived late at the factory, 50%
of them left late but 25% of them left on time
and rest of them left early. Of the workers
who arrived on time, 37.5% of them left early
and an equal number of them left late but
rest of them left on time. The number of
workers who arrived early was equal to the
number of workers who left on time and the
number of workers who left early was 39
more than the number of workers who
arrived late at the office. The number of
workers who didn’t leave on time was 144.

निरे्दश: एक कारखािे में, सभी श्रनमकों 
की उपस्थिनि 100% िी लेककि सभी 
श्रनमक कारखािे में समय के पाबन्र्द 
िहीीं िे और ि ही सभी श्रनमक अींि 
िक रुके िे। एक कर्दि, सभी कममचारी 
जो कायामलय जल्र्दी पह ींचे, उिमें से 
20% जल्र्दी चले गए लेककि उिमें से 
40% रे्दर से गए और बाकी समय पर
चले गए। कारखािे में रे्दर से पह ुँचिे 
वाले श्रनमकों में से 50% रे्दर से गए 
लेककि उिमें से 25% समय पर चले
गए और बाकी जल्र्दी चले गए। समय 
पर पह ींचिे वाले श्रनमकों में से 37.5% 
जल्र्दी चले गए और उििी ही सींख्या
में रे्दर से गए, लेककि बाकी समय पर 
चले गए। जल्र्दी पह ींचिे वाले 
कममचाररयों की सींख्या समय पर जािे 
वाले कममचाररयों की सींख्या के बराबर 
िी और जल्र्दी जािे वाले कममचाररयों 
की सींख्या कायामलय में रे्दर से आिे 
वाले कममचाररयों की सींख्या से 39 
अनिक िी। समय पर िहीीं जािे वाले 
श्रनमकों की सींख्या 144 िी।



Direction: In a factory, the attendance of all
the workers was 100% but all the workers
were not punctual to the factory nor did all
the workers stayed till the end. One day, all
the workers who arrived early at the office,
20% of them left early but 40% of them left
late and rest of them left on time. Of the
workers who arrived late at the factory, 50%
of them left late but 25% of them left on time
and rest of them left early. Of the workers
who arrived on time, 37.5% of them left early
and an equal number of them left late but
rest of them left on time. The number of
workers who arrived early was equal to the
number of workers who left on time and the
number of workers who left early was 39
more than the number of workers who
arrived late at the office. The number of
workers who didn’t leave on time was 144.



What is the difference between the total number of workers who left early and the 

total number of workers who left late?

1. 12
2. 15
3. 18
4. 21
5. NOT

Arrived Left

Early 60 63

On time 120 60

Late 24 81



What is the total number of workers working?

1. 204
2. 208
3. 210
4. 202
5. NOT

Arrived Left

Early 60 63

On time 120 60

Late 24 81



Find the respective ratio of the number of workers who arrived early, the number of 

workers who arrived on time, and the number of workers who arrived late?

1. 7 : 10 : 2
2. 5 : 6 : 2
3. 5 : 10 : 4
4. 5 : 10 : 2
5. NOT

Arrived Left

Early 60 63

On time 120 60

Late 24 81



Suppose on the day before yesterday of that day 25% of the total number of workers 

was on leave on the medical ground and 33.33% of the remaining was on leave for 

personal reason then how many workers was present on the day before yesterday of 

that day?

Arrived Left

Early 60 63

On time 120 60

Late 24 81



The total number of workers who left on time was approximately how much percent 

more than/less than the total number of workers who didn’t leave on time?

1. 60%
2. 58%
3. 59%
4. 57%
5. NOT

Arrived Left

Early 60 63

On time 120 60

Late 24 81


